H & 0l & AHS B Ml A

A St
A =4 A L5t
el F|a|gxd EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
e 35,916,298 33,581,510 2,334,788
= 713,666
= 900,000
J| 13,041,349
= 21,261,283
4 ZHH L5 35,861,858 33,532,910 2,328,948
= 713,666
= 900,000
| 13,041,349
& 21,206,843
et Ll 4,345,470 3,876,150 469,320
ESSAPSES] =T IES PN 3,600 2,565 1,035
203 PYR=&IH| 3,600 2,565 1,035
03 A F=AIHRFAIH| 3,600 2,565 1,035
OABFRH R FEIH| 3,600
HIAASHRIR 510,900 550,350 A39,450
308 AXISHMSOIA 150,000 30,000 120,000
01 XIXIEHHBAE LS 150,000 30,000 120,000
Olt3=0F ek gtat X3 150,000
403 RtXISHHMSKHE01H 360,900 520,350 A159,450
01 AXISHHAE2ER 360,900 520,350 A159,450
OJ2=sot 4 X3 360,900
SAINEFEAY 610,785 408,285 202,500
403 REXISHHS K201 610,785 408,285 202,500
01 AXISHAEER 610,785 408,285 202,500
OS2AtMl MelAld K& 502,500
OANSEsIt 8K 90,000
OgiasIt 4K 18,285
FiE Bt 84 279,160 279,160 0
307 2I2+01A 279,160 279,160
04 QUZHHAIAIE E X 279,160 279,160
OFMEAHIETIHAL 16,200
OESIs4Y ZEU= 135,000
O=Fd= RSt &2 127,960
ot ¥Es XA 80,000 40,000 40,000
307 QIZt01 A 80,000 40,000 40,000
02 QIZHBAAIEER 80,000 40,000 40,000
Ot 298HE 88 80,000
SRMAAS LA 2,804,025 2,568,633 235,392
308 AHXIHM SO & 2,204,025 2,568,633 A364,608
01 AXSHHBLERS 2,204,025 2,568,633 A364,608
Ot Z98HE g4 860,000




SN B4
3 =4 ZHY gt
el F|a|gxd EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oY gt &3 N 483,250
Oste Moty srat kA 599,775
Ogte 2l S20ge |4 15,000
OMsd 24 CH &z X 228,000
O2t= Hg I X 18,000
403 MR SHHMSAH=01H 600,000 600,000
01 AXISHHA 22 £ 600,000 600,000
O=dt JIIEZ0AIE SHat 600,000
ADIE S|oEX =4 37,000 37,000
201 fet= 3| 37,000 37,000
01 AtR2te|H] 37,000 37,000
OALOIE FJ&HX x4 15,000
OADIE HAHI 22 22,000
SAAIEHS 20,000 0 20,000
403 XIS SAH=01H 20,000 20,000
01 AXISHHA =2 £ 20,000 20,000
Ot ==F5AL NS B+ NE At 20,000
FABHHY 8,563,974 7,759,889 794,085
) 5,616,000
= 2,937,974
Az SE2el X3 304,800 77,700 227,100
403 AXIEHHSAH=201H 304,800 77,700 227,100
01 HXIHHA 22X 304,800 77,700 227,100
OALZHIEDl S X 297,300
OHigAlE HEAIE 2&&H| XA 7,500
LEXTAIZ D18 =4 758,500 744,375 14,125
308 XXM SOIA 135,000 0 135,000
01 XN B2 LS 135,000 0 135,000
OAtzH=E SN g8l X2 135,000
403 AXIEHMSA=01d 623,500 744,375 120,875
01 HXIHHA 22X 623,500 744,375 120,875
OZXAtg da-EHl X2 583,500
OFME I RRE2Ya At 40,000
ZAIE At 7,000,674 6,447,814 552,860
Il 5,371,000
== 1,629,674
308 AHXIEMSOIH 7,000,674 6,447,814 552,860
Jl 5,371,000
[ 1,629,674
01 HAHHBSEEXS 7,000,674 6,447,814 552,860
OZxAtg 4ok X2 7,000,674
Jl 5,371,000




2H: B4
XM Eak

So Y=g
el saggery (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| & 1,629,674
A& 2 JIAHEE 490,000 490,000 0
Jl 245,000
= 245,000
403 THXI M SAH=01H 490,000 490,000 0
Il 245,000
=S 245,000
01 A= 2L 490,000 490,000 0
OZAtz dah Al & HH| A& 490,000
Jl 245,000
< 245,000
B FNAY 9,534,935 8,772,002 762,933
Il 2,176,850
= 7,358,085
SAHHE JHE AR 5,574,775 5,449,675 125,100
201 2= 13,500 0 13,500
01 At22t2l] 13,500 0 13,500
OF4&F e 13,500
308 XXM SOIA 1,869,775 1,333,775 536,000
01 XN B2 LS 1,869,775 1,333,775 536,000
OFatts MM X2 955,000
OIIE&2RXel He X2 899,775
OJI=&EH =22da A& 15,000
403 AXIEHHSAH=201H 3,691,500 4,115,900 A424,400
01 AXIEHM A= 2 £ 3,691,500 4,115,900 A424,400
OF&AFOHE AIE X 1,320,000
OJtEz2Xel Al X 2,239,000
OAFHMZAIE X (=2HA) 125,000
OYslt E2 w8 XA (Z2EM) 7,500
SN 1,740,000 1,695,300 44,700
7l 1,160,000
= 580,000
403 THXI M SAH=01H 1,740,000 1,695,300 44,700
Jl 1,160,000
s 580,000
01 A= 2L 1,740,000 1,695,300 44,700
OF4&F NS K& 1,740,000
Jl 1,160,000
[ 580,000
SS s AlE JHE+ XA 615,175 0 615,175
Il 447,400
= 167,775




SA e
B &0 A Asl
el ST Y EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
403 X SHHMSAH=01H 615,175 0 615,175
Jl 447,400
== 167,775
01 AXISHHA 22 % 615,175 0 615,175
O3S st AMEMHES R 615,175
) 447,400
S 167,775
=)t =4 827,500 761,500 66,000
308 AXIHMSO0IA 272,500 266,500 6,000
01 XN EES 272,500 266,500 6,000
OHXl e XA 212,500
ORI Aty ghat X3 60,000
403 AXIEHMSAH=0ld 555,000 495,000 60,000
01 XA 22 % 555,000 495,000 60,000
dESIH |24 NE 565,000
frSEsItE2EsSAE 31,200 52,000 /20,800
Il 24,000
= 7,200
308 AFXIEHMSOIE 31,200 52,000 /20,800
Jl 24,000
= 7,200
01 AXHN B2 LS 31,200 52,000 A20,800
OR=5= sit2=2 N 31,200
Il 24,000
== 7,200
LEUHFY 25,200 25,200 0
308 AXIHSO0IA 8,400 8,400
01 MAHHBSEEXS 8,400 8,400
o2&t FEXE 8,400
403 AXIEHHS X201 16,800 16,800
01 AXEHM A =2 £ 16,800 16,800
O28sIt JINHHAIZ 16,800
SHF=HE ICT JIHEHI 90,000 45,000 45,000
Il 60,000
== 30,000
403 AXIEHMSAH=0l 90,000 45,000 45,000
Il 60,000
< 30,000
01 HXIHHA 22 90,000 45,000 45,000
OAH=Z ICT JIAEHl X 90,000
Il 60,000
= 30,000




SA e
B &0 A Asl
el ST Y EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
IIEER 01258 631,085 743,327 A112,242
Jl 485,450
== 145,635
308 AIXIHHSOIA 631,085 743,327 A12,242
) 485,450
< 145,635
01 HASHHBAEEXS 631,085 743,327 A12,242
OJIsER 01858 631,085
Il 485,450
= 145,635
s==siZc 13,427,479 13,124,869 302,610
= 713,666
[ 900,000
Jl 5,248,499
== 6,565,314
=MEIIFES 646,200 44,700 601,500
308 AXIMSO0IA 16,200 44,700 /28,500
01 HXHHBAEES 16,200 44,700 28,500
ORI - UM it s X2 16,200
403 AXIEHMSAH=201H 630,000 630,000
01 HXIHHA 22X 630,000 630,000
o4 Fg=ils |4 N2 630,000
S=ESXE 628,640 412,640 216,000
308 XXM SOIA 448,640 412,640 36,000
01 AXHNBEES 418,640 412,640 6,000
ORJIS=E Hcl 369,640
Otteiss SSAMHIA ARG (E2IEN) 9,000
ogtdls= =Ml NE 50,000
13 S [2S0He & EAS A 30,000 0 30,000
OMFEE e & SE25 8= 30,000
403 X SHMSAH=01H 180,000 180,000
01 AR A =2 £ 180,000 180,000
S=E2SdH AF X2 180,000
BtHSE SO0IEIE(HEAY) 120,000 180,000 260,000
403 AXIEHMSAH=0l 120,000 180,000 60,000
01 A= 2L 120,000 180,000 60,000
Ot sE =0I8xd 120,000
R - RASE 2dl=E MY AH 225,292 225,292 0
= 124,866
= 100,426
308 XXM SOIH 225,292 225,292 0
= 124,866




SA e
B &0 AW Asl
el s=E=sXEd (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 100,426
01 HASHHBSEEXS 225,292 225,292 0
RI| - FASE 2el=E HEXSH 225,292
= 124,866
= 100,426
Z20| Sdat==dl X 599,460 401,700 197,760
= 232,800
=S 366,660
308 XtXIEMSOIH 599,460 401,700 197,760
= 232,800
< 366,660
01 XN B2 LS 599,460 401,700 197,760
OZ120l S4dat=zHl X1 509,460
= 232,800
= 366,660
SE2E2SHH XX 1,530,000 2,040,000 /510,000
[ 900,000
= 630,000
403 TR SHMSAH=01H 1,530,000 2,040,000 /510,000
s 900,000
s 630,000
01 AXISHHA =2 £ 1,530,000 2,040,000 /510,000
Oss2a3HH &x K& 1,530,000
= 900,000
[ 630,000
S==A 2EE A 44,100 24,500 19,600
= 36,000
= 8,100
308 AHXIHMSO0IA 44,100 24,500 19,600
= 36,000
= 8,100
01 AXNBEES 44,100 24,500 19,600
S=5X 2&E 44,100
= 36,000
== 8,100
IIEHAHEE (SIHRERE) 900,000 990,000 80,000
308 AXIHSOIA 900,000 990,000 80,000
01 HAHHBAEEXS 900,000 990,000 290,000
OII=Moll28 Jrdl X1 900,000
OlIs=XAE &5 A& 4,277 33,000 9,277
308 XXM SOIH 4,277 33,000 9,277
01 XN B2 LS 42,277 33,000 9,217




A B4
m: B4 AW A
el SESA2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| oos=xAgestw 4,217
Bges M 1,556,375 1,359,450 196,925
308 XIXIEHRISOIH 1,086,425 817,050 289,375
01 MXSHALHED 1,086,425 817,050 289,375
Ods oEBLE M 93,975
OFtHs)l HHAR ARl 102,450
408 XHXI SIS K201 499,950 542,400 A4, 450
01 XS =LE 499,950 542,400 A4, 450
O4sAIE B3t 499,950
snesa X 2,066,400 1,920,000 146,400
| 1,722,000
= 344,400
308 KIXIEHRISO0IE 2,066,400 1,920,000 146,400
5] 1,722,000
= 34,400
P EREREESS 2,066,400 1,920,000 146,400
OstnegaA X 2,066,400
| 1,722,000
= 344,400
420/l UR(UXIEH)(E) 2,714 2,714 0
| 11,357
= 11,357
307 212¢0| M 2,714 2,714 0
| 11,357
= 11,357
VRIEEPONETEES 2,714 2,714 0
O=a20/=22l XIS (MZIAD 2,714
| 11,357
= 11,357
g0l NA(UXIEH)(A224) 892,905 858,009 34,8%
| 686,850
= 206,05
308 KIXIEHRIS01& 892,905 858,009 34,8%
| 686,850
= 206,055
NP ERERNEE== 892,905 858,009 4,8%
O=MZ0/222| N (HERE) 892,905
5] 686,850
= 208,055
S CECIEERL 44,616 0 44,616
| 3,320
= 10,296




SA e
B &0 AW Asl
el SESA2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
308 XXM SOIH 44,616 0 44,616
Jl 34,320
== 10,296
01 XN BSELS 44,616 0 44,616
OR=0SEESAZ 44,616
) 34,320
& 10,29
JIERDIEFEEAE 519,545 706,950 A187,405
308 AFAIEHMSOIE 501,420 609,100 /107,680
01 XN EES 501,420 609,100 /107,680
Ogs=sIiEdxd 310,620
Ogs=sIt 2Eetd A& 190,800
403 MR HHMSAHE01H 18,125 97,850 NT79,725
01 XA 22 % 18,125 97,850 ANT9,725
O3t eliatAlE 18,125
SISO E 485,690 540,954 55,264
Il 360,922
= 134,768
308 AFAIEHMSOIE 485,690 540,954 A\55,264
Jl 360,922
= 134,768
01 AXHN B2 LS 485,690 540,954 A\B5,264
OstdsOtE X2 485,690
Il 350,922
== 134,768
mad slie 28 A2 28,600 192,920 164,320
) 22,000
= 6,600
308 AFARIEHMSOIE 28,600 192,920 164,320
Il 22,000
= 6,600
01 XN EES 28,600 192,920 164,320
ORAadsity 29 28,600
Jl 22,000
=S 6,600
SLEZ0F ICT SSE X (KXIEH) 2,400,000 2,400,000 0
Il 2,400,000
403 AXIEHHSAH=201H 2,400,000 2,400,000 0
Jl 2,400,000
01 MXIHHA 22 2,400,000 2,400,000 0
O=L4HZ0F ICT SS5E =t 2,400,000
Il 2,400,000




SA e
B &0 AW Asl
el SESX2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CIVE AR ZeHYE) 9,165 10,920 1,755
Jl 7,050
== 2,115
308 AXIMSOIA 9,165 10,920 A1,755
) 7,050
< 2,115
01 HASHHBAEEXS 9,165 10,920 A1,755
OYHE X g (gdelzet) 9,165
Il 7,050
= 2,115
SIS MM SHettl X 387,200 388,960 A1,760
= 176,000
=S 211,200
308 XXM SOl 387,200 388,960 21,760
= 176,000
S 211,200
01 XN BSELES 387,200 388,960 1,760
SIS HAMNSH SHst+=Hl X 387,200
= 176,000
= 211,200
RIZHAIE)SEESAIE SHZMEXH 252,000 0 252,000
= 144,000
= 108,000
403 X SHMSAH=01H 252,000 0 252,000
= 144,000
s 108,000
01 AXISHHA =2 & 252,000 0 252,000
ORIZHAIE ) SEESAIE S#ZMH X 252,000
= 144,000
[ 108,000
=%t tlelsE 2 ER 8,100 8,100
308 AFXIEMSOIE 8,100 8,100
01 HAHHBSExRS 8,100 8,100
Od=¢tt tieisS= 23E= 8,100
SE0t ZHYE K 18,200 13,000 5,200
Jl 14,000
s 4,200
308 XXM SOIA 18,200 13,000 5,200
Jl 14,000
< 4,200
01 XN B2 LS 18,200 13,000 5,200
s0tE 2adst A 18,200
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